Talking Maths
Group Problem solving 
Year 5

	Problem:
	Year 5


	A football team started with 0 (zero) points.

How many points did they have at the end of a 38 (thirty-eight) game season?
	Vocabulary

	Clue 1:
	Clue 2:

	3 (three) points = win

1 (one) point = draw

0 (zero) points = lose
	They have 3 (three) England and 2 (two) Italian international footballers in the team.

	Clue 3:
	Clue 4: 

	They have drawn 8 (eight) games.
	They have won twice as many as they have lost.


	Problem:
	Year 5


	Roger is taking his scout group off to camp.

How many tents will they need?
	Vocabulary
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                    tent

	Clue 1:
	Clue 2:

	Each tent sleeps 6 scouts.
	112 (one hundred and twelve) scouts travel to camp by coach.  40 (forty) get lifts in cars.



	Clue 3:
	Clue 4: 

	Roger has a tent to himself, which is next to the tent used as a dining room.

	Two of the scouts are brothers.


	Problem:
	Year 5

	There were 40 (forty) goals scored in a football tournament involving France. England, Germany and Holland.

How many goals did Holland score?
	Vocabulary
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 goal 

	Clue 1:
	Clue 2:

	France scored 25% (twenty-five percent of the goals.


	England scored ½ of the goals.

	Clue 3:
	Clue 4: 

	Germany had more players booked than the other teams.


	Germany scored 0.1 of the total.


	Problem:
	Year 5

	The Head teacher buys drinks for the whole school.

How much does he spend?
	Vocabulary[image: image4.wmf] drink 

	Clue 1:
	Clue 2:

	The drinks come in packets of 20 (twenty) and come in three colours.


	There are 27 (twenty-seven) children in each class.

	Clue 3:
	Clue 4: 

	The drinks cost 10p (ten pence) each.
	There are 7 (seven) junior classes and 3 (three) infant classes.




	Problem:
	Year 5


	How many bottles of milk were delivered to No. 15 (fifteen)?
	Vocabulary
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	Clue 1:
	Clue 2:

	The milkman always delivers milk at 4.45 a.m. (four, forty-five a.m.)
	He delivered 4 (four) bottles to No. 5 (five) and 2 (two) bottles each to 7 (seven), 9 (nine) and 11 (eleven).

	Clue 3:
	Clue 4: 

	He also delivered 12 (twelve) eggs to No. 13 (thirteen) with their 3 (three) bottles of milk.
	Altogether he delivered 17 (seventeen) bottles of milk.


	Problem:
	Year 5

	There are 30 (thirty) pupils in a class. How long does it take to mark the class’s Maths homework?
	Vocabulary[image: image7.wmf](marked work) 

	Clue 1:
	Clue 2:

	1/15 (one fifteenth) of pupils were absent the day the homework was set.
	¼ of the pupils forgot to hand their homework in.

	Clue 3:
	Clue 4: 

	Each book takes 6 (six) minutes to mark.
	The teacher started marking at 6.00 p.m. (six p.m.) and had a break between (6.30 p.m. (six-thirty p.m.) and 6.50 p.m. (six-fifty p.m.)


	Problem:
	Year 5


	David lives 6 (six) miles from school.  School starts at 9.00 a.m. (nine a.m.)  David gets the 8.10 a.m. (eight-ten a.m.) bus. 

What time will he arrive at school?
	Vocabulary 
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traffic lights
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bus

	Clue 1:
	Clue 2:

	The bus travels at an average speed of 30 (thirty) miles per hour.
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	 Traffic stops at a red light for 4 (four) minutes.
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	Clue 3:
	Clue 4: 

	The bus passes 2 (two) green lights and stops at 4 (four) red lights.
	The bus makes 4 (four) stops of 5 (five) minutes and picks up 16 (sixteen) passengers.



	Problem:
	Year 5

	When will Tom have enough money to buy a game costing £80 (eighty pounds)?
	Vocabulary

	Clue 1:
	Clue 2:

	Tom gets £2.50 (two pounds and fifty pence) pocket money each week.


	Tom got £20 (twenty pounds) birthday money.

	Clue 3:
	Clue 4: 

	Tom got 5 (five) other birthday presents.


	Tom got a £10 (ten pounds) voucher.




	Problem:
	Year 5

	Miss Russell went on holiday for 1 (one) week in Spain.

How much did the holiday cost altogether?
	Vocabulary [image: image13.wmf]swimming pool [image: image14.wmf]hotel [image: image15.jpg]


 flight

	Clue 1:
	Clue 2:

	She took £200 (two hundred pounds) spending money.
	The flight cost £275 (two hundred and seventy-five pounds).



	Clue 3:
	Clue 4: 

	The hotel had a swimming pool.


	The hotel cost £20 (twenty pounds) per night.


	Problem:
	Year 5

	The children in Year 5/6 were allowed to bring their pets to school.  17 (seventeen) pets were brought in.

How many were spiders?
	Vocabulary [image: image16.wmf][image: image17.wmf][image: image18.wmf][image: image19.wmf]
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spider

	Clue 1:
	Clue 2:

	There were 2 (two) birds and twice as many cats.
	There were 3 (three) rabbits.


	Clue 3:
	Clue 4: 

	There were 6 (six) fish.


	The total number of pets’ legs was 48 (forty-eight).


	Problem:
	Year 5

	What was the average speed of the car?
	Vocabulary
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	Clue 1:
	Clue 2:

	The car started at midday.
	The car travelled 160km (one hundred and sixty) .



	Clue 3:
	Clue 4: 

	There were 4 (four) people in the car.


	The car stopped at 16.00 


	Problem:
	Year 5


	What is the number I am thinking of?

It is between 21 (twenty-one) and 75 (seventy-five).
	Vocabulary

	Clue 1:
	Clue 2:

	My number is an odd number.
	There are 28 (twenty-eight) children in my class.

	Clue 3:
	Clue 4: 

	My number is a multiple of 3 (three).
	My number can be divided by 17 (seventeen).




	Problem:
	Year 5


	There were men, women and children watching the football match.  

How many were children?
	Vocabulary

	Clue 1:
	Clue 2:

	There were 10,060 (ten thousand and sixty) in the crowd.
	25% (twenty-five percent) were women.



	Clue 3:
	Clue 4: 

	60% (sixty percent) were men.
	50% (fifty percent) of the crowd wore blue hats.


	Problem:
	Year 5

	Sarah was given a box of 48 crayons for her birthday.

How many  red crayons are in the box?
	Vocabulary

Crayons [image: image22.jpg]




	Clue 1:
	Clue 2:

	1/4 of the crayons are blue 
	There  1/6 are green 

	Clue 3:
	Clue 4: 

	The orange and yellow crayons make up 1/3 of the box
	There are twice as many red as white 


